

## BERRY–ESSEEN TYPE INEQUALITY FOR A POISSON RANDOMLY INDEXED BRANCHING PROCESS VIA STEIN’S METHOD

ZHENLONG GAO

(Communicated by Z. S. Szewczak)

*Abstract.* A Berry-Esseen type inequality is proved via Stein’s method for the logarithm of a Poisson randomly indexed branching process  $\{Z_{N_t}\}$ , where  $\{Z_n\}$  is a supercritical Galton–Watson process and  $\{N_t\}$  is a Poisson process which is independent of  $\{Z_n\}$ .

### 1. Introduction

Consider a classical supercritical Galton–Watson process  $\{Z_n, n \geq 0\}$  with offspring distribution  $\{p_i, i \geq 0\}$  and an independent Poisson process with parameter  $\lambda > 0$ . In this paper, we deal with the continuous process  $\{Z_{N_t}, t \geq 0\}$  which is called a Poisson randomly indexed branching process (PRIBP). For a PRIBP, we distinguish between the Schröder case and the Böttcher case depending on whether  $p_0 + p_1 > 0$  or  $p_0 + p_1 = 0$ .

The model of PRIBP was introduced by [4] to study the evolution of stock prices and its statistical investigation was done in [3]. Recently, PRIBP has been brought to attention in the following three directions.

In applied direction, a formula for the fair price of an European call option was derived in [12]. Later on, [16] obtained a formula for the fair price of an up-and-out call option.

On more theoretical side, [14] and [15] considered a critical branching process subordinated by a general renewal process. They investigated the probability of non-extinction, the asymptotic behavior of the moments, and also limiting distributions under normalization. Results on subcritical case were done in [13].

For statistical inference, on the one hand, [17] indicated that  $R_t := Z_{N_t+1}Z_{N_t}^{-1}$  is a reasonable estimator of the offspring mean  $m$ . They consider the supercritical PRIBP (Schröder case) and obtained the exponential rate of decay for the large deviation probability  $P(|R_t - m| \geq x)$  under the condition that the offspring distribution has finite exponential moments. On the other hand, [8] showed that  $(\lambda t)^{-1} \log Y_t$  is an estimator of  $\log m$  and derived the consistency, asymptotic normality, large deviation and moderate deviation of the estimator when the PRIBP belongs to the Böttcher case. The large

---

*Mathematics subject classification* (2010): 60J80, 60F10.

*Keywords and phrases:* Berry-Esseen’s inequality, Stein’s method, randomly indexed branching process.

deviations in the Shröder case were given in [5], where the rate function  $I(x)$  is deferent from the Böttcher case for small positive  $x$ . Similar results for branching process indexed by a renewal process were done in [6] and [7].

The asymptotic normality for a PRIBP was proved in [8]. Precisely, for any  $t \geq 0$ , define  $Y_t = Z_{N_t}$ . Then

$$\lim_{t \rightarrow \infty} P \left( \frac{\log Y_t - \lambda t \log m}{\sqrt{\lambda t \log m}} \leq x \right) = \Phi(x), \quad x \in R,$$

where  $\Phi(x)$  is the distribution function of standard normal law. In this paper, we consider a Berry-Esseen type inequality for this asymptotic normality based on Stein's method.

Throughout the paper, we assume the following condition:

**A1:**  $p_0 = 0, m \in (1, \infty), \sigma^2 = E(Z_1 - m)^2 \in (0, \infty)$ .

**THEOREM 1.** Under the condition **A1**, we have

$$\sup_{x \in R} \left| P \left( \frac{\log Y_t - \lambda t \log m}{\sqrt{\lambda t \log m}} \leq x \right) - \Phi(x) \right| \leq \frac{C}{\sqrt{t}}, \tag{1}$$

where  $C$  is a positive constant.

The rest of the paper is organized as follows. In Section 2, we prove a Berry-Esseen inequality for the normalized Poisson process. Section 3 is devoted to the proof of the main result of the paper. Basic facts on Stein's method are given in the Appendix.

In the rest of the paper, we denote by  $C$  an absolute and positive constant which may differ from line to line.

### 2. Berry-Esseen type inequality for a Poisson process

In this section, we establish a Berry-Esseen type inequality for the normalized Poisson process with parameter  $\lambda > 0$  based on Stein's method. The idea comes from [10].

**LEMMA 1.** Let  $\{N_t\}_{t \geq 0}$  be a Poisson process with parameter  $\lambda > 0$ , we have

$$\sup_{x \in R} \left| P \left( \frac{N_t - \lambda t}{\sqrt{\lambda t}} \leq x \right) - \Phi(x) \right| \leq \frac{C}{\sqrt{t}}. \tag{2}$$

*Proof.* For any  $t \geq 2$ , there exists an integer  $n = n(t)$  such that  $n + 1 \leq t < n + 2$ . For simplicity, let

$$U_t = \frac{N_n - \lambda n}{\sqrt{\lambda t}}, \quad V_t = \frac{N_t - \lambda t}{\sqrt{\lambda t}}, \quad Q_t = V_t - U_t.$$

By (33), we should find a suitable bound of  $|E(f'_x(V_t) - V_t f_x(V_t))|$ , where the bound is independent of  $x \in R$  and  $f_x$  is the unique bounded solution of Stein's equation (30). For simplicity, we write  $f$  for  $f_x$ . By the triangular inequality, we have

$$\begin{aligned} |E(f'(V_t) - V_t f(V_t))| &\leq |E(f'(V_t) - U_t f(U_t))| \\ &\quad + |E(U_t f(U_t) - U_t f(V_t))| + |E(Q_t f(V_t))| \\ &=: I_1 + I_2 + I_3. \end{aligned} \quad (3)$$

By (31) and Hölder's inequality, one has

$$\begin{aligned} I_3 &\leq E|Q_t| = E \left| \frac{N_t - \lambda t}{\sqrt{\lambda t}} - \frac{N_n - \lambda n}{\sqrt{\lambda t}} \right| \\ &\leq \frac{1}{\sqrt{\lambda t}} \left( E |(N_t - \lambda t) - (N_n - \lambda n)|^2 \right)^{1/2} \\ &= \frac{1}{\sqrt{\lambda t}} (\lambda(t-n))^{1/2} \leq \frac{C}{\sqrt{t}}. \end{aligned} \quad (4)$$

Using (31) and Hölder's inequality again, we have

$$\begin{aligned} I_2 &\leq E|U_t(f(V_t) - f(U_t))| \leq E|U_t Q_t| \\ &= E \left( \left| \frac{N_n - \lambda n}{\sqrt{\lambda t}} \right| \left| \frac{N_t - \lambda t}{\sqrt{\lambda t}} - \frac{N_n - \lambda n}{\sqrt{\lambda t}} \right| \right) \\ &\leq \frac{1}{\lambda t} (E|N_n - \lambda n|^2)^{1/2} \left( E |(N_t - \lambda t) - (N_n - \lambda n)|^2 \right)^{1/2} \\ &= \frac{1}{\lambda t} \cdot \sqrt{\lambda n} \cdot \sqrt{\lambda(t-n)} \leq \frac{C}{\sqrt{t}}. \end{aligned} \quad (5)$$

Again, by the triangular inequality, we have

$$I_1 \leq |E(f'(U_t + Q_t) - f'(U_t))| + |E(f'(U_t) - U_t f(U_t))| =: I_4 + I_5. \quad (6)$$

For  $i = 1, 2, \dots$ , define  $X_i = N_i - N_{i-1}$ . It is obvious that  $\{X_i\}$  is an i.i.d. sequence of Poisson random variables with parameter  $\lambda > 0$ . Let  $\mu_t$  be the distribution function of  $U_t$ . Using (30), (33), the triangular inequality and (34), one gets

$$\begin{aligned} I_5 &= |\mu_t(x) - \Phi(x)| = \left| P \left( \frac{N_n - \lambda n}{\sqrt{\lambda n}} \leq x \sqrt{\frac{t}{n}} \right) - \Phi(x) \right| \\ &\leq \left| P \left( \frac{N_n - \lambda n}{\sqrt{\lambda n}} \leq x \sqrt{\frac{t}{n}} \right) - \Phi \left( x \sqrt{\frac{t}{n}} \right) \right| + \left| \Phi \left( x \sqrt{\frac{t}{n}} \right) - \Phi(x) \right| \\ &\leq \frac{C}{\sqrt{t}} + \left| \Phi \left( x \sqrt{\frac{t}{n}} \right) - \Phi(x) \right|. \end{aligned} \quad (7)$$

Since  $(1-x)^{-1/2} = 1 + x/2 + o(x)$  ( $x \rightarrow 0$ ), we have

$$\sqrt{\frac{t}{n}} = \left( 1 - \frac{t-n}{t} \right)^{-1/2} =: 1 + R_t,$$

where  $0 \leq R_t \leq C/\sqrt{t}$ . By the mean value theorem and the fact that  $|x\Phi'(x)| \leq C$ , we have

$$\left| \Phi \left( x\sqrt{\frac{t}{n}} \right) - \Phi(x) \right| = |\Phi(x(1 + R_t)) - \Phi(x)| \leq R_t |x\Phi'(x)| \leq \frac{C}{\sqrt{t}}. \tag{8}$$

Applying (32) for  $u = U_t, s = Q_t$  and  $t = 0$ , we get

$$I_4 \leq E(|U_t||Q_t|) + E(|Q_t|) + P(U_t + Q_t \leq x, U_t \geq x) + P(U_t + Q_t \geq x, U_t \leq x). \tag{9}$$

As for (4) and (5), we have

$$E(|U_t||Q_t|) + E(|Q_t|) \leq C/\sqrt{t}. \tag{10}$$

For simplicity, let

$$H_t = \frac{N_{t-t^{-2}} - \lambda(t-t^{-2})}{\sqrt{\lambda t}} - \frac{N_n - \lambda n}{\sqrt{\lambda t}}, \quad L_t = Q_t - H_t.$$

Consequently,

$$P(U_t + Q_t \leq x, U_t \geq x) \leq P(U_t + H_t \leq x + t^{-1/2}, U_t \geq x) + P(|L_t| \geq t^{-1/2}) = I_6 + P(|L_t| \geq t^{-1/2}). \tag{11}$$

Let  $\delta_t$  be the distribution function of  $H_t$ . By conditioning and using the independence between  $U_t$  and  $H_t$ , we have

$$I_6 = \int P(U_t + s \leq x + t^{-1/2}, U_t \geq x) d\delta_t(s) = \int I(s \leq 1/\sqrt{t})(\mu_t(x + t^{-1/2} - s) - \mu_t(x)) d\delta_t(s). \tag{12}$$

Note that  $|\Phi'(x)| \leq 1$ . Thus, by the triangular inequality, (7) and (8), we obtain

$$|\mu_t(x + t^{-1/2} - s) - \mu_t(x)| \leq |\mu_t(x + t^{-1/2} - s) - \Phi(x + t^{-1/2} - s)| + |\Phi(x + t^{-1/2} - s) - \Phi(x)| + |\Phi(x) - \mu_t(x)| \leq C/\sqrt{t} + |s|. \tag{13}$$

By Hölder’s inequality, we have

$$E|H_t| = \frac{1}{\sqrt{\lambda t}} E|(N_{t-t^{-2}} - \lambda(t-t^{-2})) - (N_n - \lambda n)| \leq \frac{1}{\sqrt{\lambda t}} (E|(N_{t-t^{-2}} - \lambda(t-t^{-2})) - (N_n - \lambda n)|^2)^{1/2} = \frac{(\lambda(t-t^{-2}-n))^{1/2}}{\sqrt{\lambda t}} \leq \frac{C}{\sqrt{t}}. \tag{14}$$

Furthermore, by Markov’s inequality and Hölder’s inequality, one has

$$\begin{aligned}
 P(|L_t| \geq t^{-1/2}) &\leq \sqrt{t}E|L_t| = \sqrt{t}E \left| \frac{N_t - \lambda t}{\sqrt{\lambda t}} - \frac{N_{t-t^{-2}} - \lambda(t-t^{-2})}{\sqrt{\lambda t}} \right| \\
 &\leq \sqrt{t} \left( E \left| \frac{N_t - \lambda t}{\sqrt{\lambda t}} - \frac{N_{t-t^{-2}} - \lambda(t-t^{-2})}{\sqrt{\lambda t}} \right|^2 \right)^{1/2} \\
 &= t^{-1} \leq C/\sqrt{t}.
 \end{aligned}
 \tag{15}$$

Thus, (11)–(15) imply

$$P(U_t + Q_t \leq x, U_t \geq x) \leq C/\sqrt{t}.
 \tag{16}$$

In the same way, we get  $P(U_t + Q_t \geq x, U_t \leq x) \leq C/\sqrt{t}$ . Therefore, (2) follows from (33), (3)–(16).

### 3. Proof of the main result

In this section, we use the same method as in Lemma 1 to prove the main result. For a Galton-Watson process  $\{Z_n\}$ , define  $W_n = Z_n/m^n$ . It is well known that there exists a nonnegative random variable  $W$  such that  $W_n \xrightarrow{a.s.} W$ . Our proof depends on the following lemma.

LEMMA 2. *Under condition A1, one has*

$$\sup_n E|\log W_n|^i < +\infty, \quad i = 1, 2$$

and there exists a constant  $r \in (0, 1)$  such that

$$E|\log W_n - \log W| \leq Cr^n.$$

*Proof.* Since  $p_0 = 0$ ,  $W$  is a positive random variable. Note that for any  $a > 0$ ,

$$W^{-a} = \Gamma(a)^{-1} \int_0^\infty e^{-uW} u^{a-1} du,$$

where  $\Gamma(a) = \int_0^\infty x^{a-1} e^{-x} dx$ . According to Lemma 10.7 of [1], we have

$$EW^{-a} = \Gamma(a)^{-1} \int_0^\infty \phi(u) u^{a-1} du < \infty$$

for all  $a > 0$  such that  $p_1 m^a < 1$ , where  $\phi(u) = E(e^{-uW})$ . Therefore, using the fact that, for any positive  $x$ ,  $|\log x|^i \leq C(x + x^{-a})$  ( $i = 1, 2$ ), one gets

$$E|\log W|^i \leq C(E(W) + E(W^{-a})) < \infty, \quad i = 1, 2.$$

For any nonnegative and convex function  $f$ , by Jensen’s inequality, one has

$$E(f(W)|\mathcal{F}_n) \geq f(E(W|\mathcal{F}_n)) = f(W_n) \text{ a.s.},$$

where  $\mathcal{F}_n$  is the  $\sigma$ -field generated by  $\{Z_0, Z_1, \dots, Z_n\}$ . Thus,  $\sup_n E(f(W_n)) \leq E(f(W))$ . On the other hand, using Fatou’s lemma, one gets  $\sup_n E(f(W_n)) \geq E(f(W))$ .

Note that  $|\log x|^i I(0 < x \leq 1)$  ( $i = 1, 2$ ) is a nonnegative and convex function, we have

$$\sup_n E|\log W_n|^i I(W_n \leq 1) = \sup_n E|\log W|^i I(W \leq 1) < +\infty, \quad i = 1, 2.$$

By a standard truncation we obtain  $\sup_n E|\log W_n|^i < \infty, \quad i = 1, 2$ .

Next, define

$$U_n = \frac{W_{n+1}}{W_n} - 1 = \frac{1}{Z_n} \sum_{i=1}^{Z_n} \left( \frac{X_i}{m} - 1 \right),$$

where  $\{X_i\}$  is an i.i.d. sequence and independent of  $Z_n$ . Then

$$\log W_{n+1} - \log W_n = \log(1 + U_n).$$

We firstly show that there exists a constant  $r \in (0, 1)$  such that  $[E(U_n^2)]^{1/2} \leq Cr^n$ . In fact, by a standard moment inequality (see page 97 of [9]), one gets  $E(U_n^2) \leq CE(Z_n^{-1})$ . Note that  $f(x) = x^{-1}, x > 0$  is a convex function, by Jensen’s inequality,

$$E(Z_{n+1}^{-1}) = E\left(\sum_{i=1}^{Z_n} X_i\right)^{-1} \leq E\left(Z_n^{-1} Z_n^{-1} \sum_{i=1}^{Z_n} X_i^{-1}\right)$$

Since  $\{X_i\}$  is independent of  $Z_n$ ,

$$E(Z_{n+1}^{-1}) \leq E\left(E\left(Z_n^{-1} Z_n^{-1} \sum_{i=1}^{Z_n} X_i^{-1} | Z_n\right)\right) = E(Z_n^{-1})E(Z_1^{-1}).$$

By induction, we obtain

$$E(Z_n^{-1}) \leq (E(Z_1^{-1}))^n.$$

Let  $r = \sqrt{E(Z_1^{-1})} < 1$ , one gets  $[E(U_n^2)]^{1/2} \leq Cr^n$ .

Next, for any  $b \in (0, 1)$ ,

$$\begin{aligned} E|\log W_{n+1} - \log W_n| &= E|\log(1 + U_n)I(U_n \geq -b)| + E|\log(1 + U_n)I(U_n < -b)| \\ &= A_n + B_n. \end{aligned} \tag{17}$$

Using the fact that  $|\log(1 + x)| \leq C|x|$  for  $x \geq -b$  and Hölder’s inequality, one has

$$A_n \leq CE|U_n| \leq C(E(U_n^2))^{1/2} \leq Cr^n. \tag{18}$$

Note that  $E(\log(1 + U_n))^2 = E(\log W_{n+1} - \log W_n)^2 < \infty$ , using Hölder’s inequality and Chebyshev’s inequality, we have

$$B_n \leq C(E(\log(1 + U_n))^2)^{1/2}(P(U_n < -b))^{1/2} \leq C[E(U_n^2)]^{1/2} \leq Cr^n. \tag{19}$$

Thus by (17)–(19), one gets

$$E|\log W_{n+1} - \log W_n| \leq Cr^n.$$

Consequently, for any integer  $k \geq 1$ ,

$$E|\log W_{n+k} - \log W_n| \leq C(r^n + r^{n+1} + \dots + r^{n+k-1}) \leq Cr^n/(1-r).$$

Letting  $k \rightarrow \infty$ , we complete the proof of Lemma 2.

*Proof of Theorem 1.* For any  $t \geq 1$ , let

$$S_t = \frac{\log Y_t - \lambda t \log m}{\sqrt{\lambda t \log m}}, \quad V_t = \frac{N_t - \lambda t}{\sqrt{\lambda t}}, \quad T_t = S_t - V_t.$$

As for (3), we have

$$\begin{aligned} |E(f'(S_t) - S_t f(S_t))| &\leq |E(f'(S_t) - V_t f(V_t))| \\ &\quad + |E(V_t f(S_t) - V_t f(V_t))| + |E(T_t f(S_t))| \\ &=: K_1 + K_2 + K_3. \end{aligned} \tag{20}$$

It is enough to prove that  $K_1 + K_2 + K_3 \leq C/\sqrt{t}$ . For  $K_3$ , let  $W_n = Z_n/m^n$ , by (31) and Lemma 2, one has

$$K_3 \leq E|T_t| = E \left| \frac{\log W_{N_t}}{\sqrt{\lambda t \log m}} \right| \leq \frac{C}{\sqrt{t}}. \tag{21}$$

Furthermore, using (31), Lemma 2 and Hölder’s inequality, we have

$$\begin{aligned} K_2 &\leq E|V_t(f(S_t) - f(V_t))| \leq E|V_t T_t| \\ &\leq \frac{1}{\lambda t \log m} (E|N_t - \lambda t|^2)^{1/2} \left( E|\log W_{N_t}|^2 \right)^{1/2} \leq \frac{C}{\sqrt{t}}. \end{aligned} \tag{22}$$

Finally, by the triangular inequality, we have

$$K_1 \leq |E(f'(V_t + T_t) - f'(V_t))| + |E(f'(V_t) - V_t f(V_t))| =: K_4 + K_5. \tag{23}$$

Lemma 1 implies  $K_5 \leq C/\sqrt{t}$ , then it is enough to show that  $K_4 \leq C/\sqrt{t}$ . Applying (32) for  $u = V_t, s = T_t$  and  $t = 0$ , we get

$$\begin{aligned} I_4 &\leq E(|V_t||T_t|) + E(|T_t|) + P(V_t + T_t \leq x, V_t \geq x) \\ &\quad + P(V_t + T_t \geq x, V_t \leq x). \end{aligned} \tag{24}$$

As for (21) and (22), we have  $E(|V_t||T_t|) + E(|T_t|) \leq C/\sqrt{t}$ . Firstly, we show that

$$P(V_t + T_t \leq x, V_t \geq x) \leq C/\sqrt{t}. \tag{25}$$

For simplicity, let

$$B_t = \frac{(N_t - N_{\sqrt{t}}) - \lambda(t - \sqrt{t})}{\sqrt{\lambda t}}, \quad C_t = V_t - B_t, \quad \rho_t(x) = P(B_t \leq x),$$

$$D_t = \frac{\log W_{N\sqrt{t}}}{\sqrt{\lambda t} \log m}, \quad E_t = T_t - D_t.$$

Consequently,

$$\begin{aligned} P(V_t + T_t \leq x, V_t \geq x) &\leq P(V_t + D_t \leq x + t^{-1/2}, V_t \geq x) + P(|E_t| \geq t^{-1/2}) \\ &= K_6 + P(|E_t| \geq t^{-1/2}). \end{aligned} \tag{26}$$

Let  $v_t$  be the joint distribution of  $(C_t, D_t)$ . By conditioning and using the independence between  $B_t$  and  $(C_t, D_t)$ , we have

$$\begin{aligned} K_6 &= \int P(B_t + s + v \leq x + t^{-1/2}, B_t + s \geq x) v_t(ds, dv) \\ &= \int I(s \leq 1/\sqrt{t})(\rho_t(x + t^{-1/2} - s - v) - \rho_t(x - s)) v_t(ds, dv). \end{aligned} \tag{27}$$

As for (8) and (13), we obtain

$$|\rho_t(x + t^{-1/2} - s - v) - \rho_t(x - s)| \leq C/\sqrt{t} + |v| \tag{28}$$

By Lemma 2, one has

$$E|D_t| \leq C/\sqrt{t}, \quad P(|E_t| \geq t^{-1/2}) \leq C/\sqrt{t}. \tag{29}$$

(25) follows from (26)–(29).

One can obtain  $P(V_t + T_t \geq x, V_t \leq x) \leq C/\sqrt{t}$  similarly. By (33), (20)–(25), we get Theorem 1.

### A. Stein’s method

Some basic facts on the Stein’s method are given in this appendix. For more details, the reader can see the book [2].

Lemma 3 shows that the standard normal distribution can be characterized by the Stein’s operator which is defined as following,

$$\mathcal{A}f(u) = f'(u) - uf(u),$$

where  $f : R \mapsto R$  is an absolutely continuous function.

LEMMA 3. (Characterization of the normal law  $N(0, 1)$ ) *A random variable  $Z$  is of normal law  $N(0, 1)$  if and only if  $E\mathcal{A}f(Z) = 0$  for all absolutely continuous function  $f$  such that  $E|f'(Z)| < \infty$  (see Lemma 2.1 of [2]).*

The next lemma gives some facts on the solution of Stein’s equation defined as follow. For any  $x \in R$ , define

$$I(u \leq x) - \Phi(x) = f'(u) - uf(u), \quad \forall u \in R. \tag{30}$$



LEMMA 4. (Solution of Stein's equation) *For each  $x \in R$ , Stein's equation (30) has a unique bounded solution  $f_x$  which satisfies*

$$\|f_x\| \leq 1, \quad \|f'_x\| \leq 1 \quad (31)$$

and for all real  $u, s$  and  $t$ ,

$$\begin{aligned} |f'_x(u+s) - f'_x(u+t)| &\leq (|t| + |s|)(|u| + 1) + I(x-t \leq u \leq x-s)I(s \leq t) \\ &\quad + I(x-s \leq u \leq x-t)I(s > t), \end{aligned} \quad (32)$$

where  $\|\cdot\|$  denotes the infinity norm (see [11] for details).

Substituting  $u$  by  $X$  in (30), taking expectation and the supremum over  $x \in R$ , we obtain

$$\sup_{x \in R} |P(X \leq x) - \Phi(x)| = \sup_{x \in R} |E(f'_x(X) - X f_x(X))| = \sup_{x \in R} E \mathcal{A} f_x(X). \quad (33)$$

The last result gives the Berry-Esseen bound of a sum of i.i.d. random variables via Stein's method.

LEMMA 5. (Berry-Esseen bound via Stein's method) *Consider i.i.d. random variables  $X_1, \dots, X_n$  with  $\mu = E(X_1)$ ,  $\sigma^2 = \text{Var}(X_1)$  and  $\rho = E|X_1|^3 < \infty$ . Define  $Y_n = \sum_{i=1}^n (X_i - \mu) / (\sigma \sqrt{n})$ . For each  $x \in R$ , the unique bounded solution  $f_x$  of Stein's equation satisfies*

$$|E(f'_x(Y_n) - Y_n f_x(Y_n))| \leq \frac{C\rho}{\sqrt{n}}. \quad (34)$$

The proof of Lemma 5 was given in [11].

*Acknowledgement.* The authors would like to thank the referee for his(her) valuable suggestions, which essentially improved the manuscript. The authors are supported by NSFC (No. 11601260), Natural Science Foundation of Shandong Province (No. ZR2016AB01) and A Project of Shandong Province Higher Educational Science and Technology Program (No. J15LI06).

#### REFERENCES

- [1] K. B. ATHREYA AND P. E. NEY, *Branching process*, Springer, Berlin, 1972.
- [2] L. H. Y. CHEN, L. GOLDSTEIN AND Q. M. SHAO, *Normal approximation by Stein's method*, Springer, Berlin, 2011.
- [3] J. P. DION AND T. W. EPPS, *Stock prices as branching processes in random environments: estimation*, Comm. Statist. Simulation Comput. **28**, 4 (1999), 957–975.
- [4] T. W. EPPS, *Stock prices as branching processes*, Stochastic Models **12**, 4 (1996), 529–558.
- [5] Z. L. GAO AND W. G. WANG, *Large deviations for a Poisson random indexed branching process*, Statist. Probab. Lett. **105**, (2015), 143–148.
- [6] Z. L. GAO AND W. G. WANG, *Large and moderate deviations for a renewal randomly indexed branching process*, Statist. Probab. Lett. **116**, (2016), 139–145.

- [7] Z. L. GAO AND Y. H. ZHANG, *Large and moderate deviations for a class of renewal random indexed branching process*, Statist. Probab. Lett. **103**, (2015), 1–5.
- [8] Z. L. GAO AND Y. H. ZHANG, *Limit theorems for a supercritical Poisson random indexed branching process*, J. Appl. Probab. **53**, 1 (2016), 307–314.
- [9] Z. Y. LIN AND Z. D. BAI, *Probability inequality*, Science Press, Beijing, 2010.
- [10] I. GRAMA, Q. S. LIU AND E. MIQUEU, *Berry-Esseen's bound and Cramér's large deviation expansion for a supercritical branching peocess in a random environment*, Stoch. proc. appl. **127**, 4 (2017), 1255–1281.
- [11] S. T. HO AND L. H. Y. CHEN, *An  $L_p$  bound for the remainder in a combinatorial central limit theorem*, Ann. Probab. **6**, 2 (1978), 231–249.
- [12] G. K. MITOV AND K. V. MITOV, *Option pricing by branching process*, Pliska Stud. Math. Bulgar. **18**, (2007), 213–224.
- [13] G. K. MITOV AND K. V. MITOV, *Subcritical random indexed branching process*, Pliska Stud. Math. Bulgar. **20**, (2011), 155–168.
- [14] G. K. MITOV, K. V. MITOV AND N. M. YANEV, *Limit theorems for critical randomly indexed branching processes*, In Workshop on Branching Processes and their Applications, (2010), 95–108.
- [15] G. K. MITOV, K. V. MITOV AND N. M. YANEV, *Critical randomly indexed branching processes*, Statist. Probab. Lett. **79**, 3 (2009), 1512–1521.
- [16] G. K. MITOV, S. T. RACHEV, Y. S. KIM AND F. J. FABOZZI, *Barrier option pricing by branching processes*, Int. J. Theor. Appl. Finance **12**, 7 (2009), 1055–1073.
- [17] S. J. WU, *Large deviation results for a randomly indexed branching process with applications to finance and physics*, Doctoral Thesis, Graduate Faculty of North Carolina State University, <http://www.lib.ncsu.edu/resolver/1840.16/7554>.

(Received May 3, 2017)

Zhenlong Gao  
School of Statistics  
Qufu Normal University  
Qufu 273165, China  
e-mail: gz1kygz@163.com